ERE F420EMEMRANNLFREHRERS
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£<H 202441A14H(B) F#OK30NRE—F (FAXKRT)
a—2x T ULREC T LRBERE— L D4=ya T B 8ERIEO—X
XE LR O 42. 195km
£ 1K B6km FFULRAD7 LR (ARAEREE L3 iis) ~ REKE
F 2K 4km KRERE ~ BABREKO
£ 3 K 3km BhEEO ~ N KEARET
% 4K 4km HKETERET ~ b8 EET
% 5 K 4. 1075km FEBENILEE ~ ENZR#HERESEER
% 6 X 4. 0875km ENREMEMRSEER ~ dbs)B]XET
£ 7K 4km EBEINAIHET ~ HKETFHET
£ 8 X 3km AKETFHT ~ BAEHA
£ 9 X 10km BAEH ~ FULRIDT7 LRI (BARBELFERES)
K % [t BB i B | i %
1 |l BRX 5 & RRELHEGS BER HETLHFMILHEFFER
2 | K HEF 5 |&l s RRELHEBE EKEE REARIV=VIF—L
3 |&FO & 5 |&l & RRELHRGS BE TRBIEEER TIRRIFIIERTER
4 | FH C L RRELHRGE E5EE IEXFE
5 |/hMII gkth B |BRizEE HRELEFEEGS RETOCIIMIE RREZEEEER
6 |EFR BE B |BRiz~AyrFa—F RRELHEBS RETOCIILEIEE HELIHFMILIEDER
®|7|me = T |[a—F RREXSFFR
8 |BA\ 8 |7—F BT A 7 3L BT FH 38 — h A
ERRCEE: 7 |XEI—F JPEHAEHY IL—T
10 | RE B |XEI—F I EKEEER
1 |&% RE g |XEa—F E#JIAC
12 [hnjgE FHt g [XEa—F KJR Legacy
13 [dtX AIRF 7 |XEI—F AT EERK
14 (ILA (DA T |XEI—F TWO LAPS
15 |54 EXE Z (f—F— )=7—k
16 [1&33 #HE T |HEAREEFEFYITY) B KAZE 3000m(9'09”88)/5000m(15'42”02)
17 |88 2% T |HEAREEF BAKIEF R FRE L 5000m(14'55”83)/10000m(30'20" 44)
18 | K¥t KRE T |HEANREEF Kb F L FRELE 5000m(15'02"48)/10000m(31'51”05)
19 [{RIR BEF T |HEAREEF BARKEF KR 3000m(9'13”34),/5000m(15'38”04)
20 /M1 [&E T |HEANEEEF MR 5000m(15'38"65)/10000m(32'29” 14)
|21 |fK XiE T |EREEFEI) IBR & % 24 1500m (4'22”59) /3000m(9'12”12)
22 |IXE EM T [BREEFEI) BRSSP 1500m (4'32798) /3000m(9'33"92)
23 |0 BKRF | X |[BREEFE2) EEXFEEER 1500m (4'33"64) /3000m(9'39”99)
F |24 |AH BT Z |EREEFE2) #L EKEEER 1500m (4'34”11) /3000m(9'40” 69)
25 |i2E BR{E T [EHR4EEF(EI) F bl o e o 1500m (4'33”77) /3000m(9'40”84)
26 |—H BKXF 7 |hEAEF(FI) HAR I KE PR 1500m (4'31708) /3000m(9'52"27)
27 | KK BE 7 |hEEEF(H3I) IFRNRIIBHEE ZFER 1500m (4'33727) /3000m(9'58" 18)
28 |IRA L& 7 |REAEF(HI) 3L SR KA AR ch S B 4% [ 1500m (4'37704) /3000m(10°02”39)
29 /R BE Z (70 )MEF(F2)  [IFNIRILEFE—FFR  [1500m(439707)/3000m(10'03°02)




